
Supplemental Table 2: Bivariate comparisons of individuals who did or did not experience 

readmission for fall-related injury. 

90 Day Fall 

 Test Statistic p value 

Private Payer X2 = 1.189e-56 p < .001 

Male X2 = 0.2911 0.2911 

White X2 = 7.61e-16 p < .001 

Admission Psychiatric Dx X2 = 0.0001597 p < .001 

Admission via ED X2 = 1.537e-18 p < .001 

Total medications t = 4.072e-10 p < .001 

Age t = 0.0002198 p < .001 

Charlson t = 4.009e-38 p < .001 

Burden Score t = 3.232e-09 p < .001 

 

180 Day Fall 

 Test Statistic p value 

Private Payer X2 = 6.147e-108 p < .001 

Male X2 = 0.1702 0.1702 

White X2 = 6.574e-33 p < .001 

Admission Psychiatric Dx X2 = 2.98e-07 p < .001 

Admission via ED X2 = 2.952e-31 p < .001 

Total medications t = 4.489e-18 p < .001 



Age t = 3.102e-07 p < .001 

Charlson t = 5.797e-78 p < .001 

Burden Score t = 7.067e-18 p < .001 

 

 


